Figure S1. Double-layer uterine closure in a standardised way.

A. Step 1: lateral suture; B. Step 2: lateral suture on the other side; C. Step 3: First layer: full thickness,
continuous, including large part of myometrium, including the endometrial layer; D. Step 4: End of this
first layer; E. Step 5: Second layer: superficial continuous layer of serosal tissue, imbricating the first
layer; F. Step 6: First and second layer should be closely connected.



3. Recognizing a niche — quiz3
Please select the niche
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Lesson 4 — Finding the planes

1. Sagittal plane

Lesson 5 — How to measure

1. Lesson 5 — How to measure
1.5. Simple niche — depth

Depth of the niche is measured in one straight line from base
shaped niche, the largest depth should be measured

The video below shows how to get to the correct sagittal plane for niche measurement. Start with good visualization of the cervical canal, then move the vaginal

probe to both lateral sides, as is shown in the video below. Do not rotate the probe

For depth and length measurement, find the image where the main niche has the largest length and depth. All measurements will be explained later.

Keep in mind that the correct sagittal plane, is the plane with the largest niche. This is NOT always the mid sagittal plane

Please click on the texts in the video for more details

Figure S2. Examples of e-learning niche measurement.
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